N\

N\ N\ N\ N\
PARACOPPA SPECIFICO - OIL CARTER PROTECTION \ @ @ @
SABOT MOTEUR SPECIFIQUE - SPEZIFISCHER MOTORSCHULTZ - CUBRE CARTER ESPECIFICO

@ @ N @
SUZUKI DLG50 V-STROM L2 1 = &

RP3101 ?
N

2011 - 2012 PARACOPPA PIASTRINA PIASTRINA PIASTRINA CENTRALE VITE TEF M6x16mm VITE TBEI M6Xx25mm
OIL CARTER PROTECTION LITTLE PLATE LITTLE PLATE CENTRAL LITTLE PLATE SCREW SCREW
ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS SABOT MOTEUR PETITE PLAQUE PETITE PLAQUE PETITE PLAQUE CENTRALE VIS VIS
SPEZIFISCHER MOTORSCHULTZ | | PLAETTCHEN PLAETTCHEN ZENTRUM PLAETTCHEN SCHRAUBE SCHRAUBE
\ ) k INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE J CUBRE CARTER PLAQUETA GL2137 | | pLAQUETA GL2139| |PLAQUETA CENTRAL TORNILLO TORNILLO

_C Q1vn1 JUQivn1 J{ Q1vni JLU Q1vyn1 J{ Q1vn2 J{ Q1vn2 J

( C N .@ N C N @ N @ N\ @ N [ .@ N @ )\
) = &9 & \a? -

RONDELLA DADO A.B. M6 DISTANZIALE @10x9.8mm

VITE TE M10x120mm | | VITE TBEIFN M6x16 RONDELLA @6x18 nera | | RONDELLA @10mm ZIGRINATA @6 FLANGIATO DADO A.B. M10 foro @8,2mm

SCREW M10x120mm SCREW \WASHER @6x 18 black WASHER @10mm WASHER @6 BOLT M6 BOLT M10 SPACER

VIS M10x120mm VIS RONDELLE @6x18 noire RONDELLE @10mm RONDELLE @6 ECROU M6 ECROU M10 ENTRETOISE

SCHRAUBE M10x120mm SCHRAUBE SCHEIBE @6x18 schwartz SCHEIBE @10mm SCHEIBE @6 MUTTER M6 MUTTER M10 DISTANZSTUECK

TORNILLO M10x120mm TORNILLO ARANDELA @6x18 negra ARANDELA @10mm ARANDELA @6 TUERCA M6 TUERCA M10 DISTANCIADOR

_ QTvn1 JL QTvyn4 J{U Q1vyn2 J{ Q1vyn2 J{L Q1vn4 J{ Q1vyn2 J{_Q1vyni1i J{L QTYn2

4

\




(" )
PARACOPPA SPECIFICO - OIL CARTER PROTECTION ( @ N ( @ )
SABOT MOTEUR SPECIFIQUE - SPEZIFISCHER MOTORSCHULTZ - CUBRE CARTER ESPECIFICO
o O-RONG 7268
5 | SUZUKI DL650 V-STROM L2 ) (
2
o
2011 = 2012 RONDELLA IN GOMMA\! GOMMINO
RUBBER WASHER FAIRLEADER
ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS RONDELLE EN CAOUTCHOUC | | CHAUMARD
. INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAIE J R ANDE A D EOMA S
 Q.TYn4 J{ Q.TYn.2 )

g«\\&&&\k&&w\\&&&\k@\\\

© Copyright 280512MF-Rev00, 2/2

Py

Y




